


TQFT completions of the annular Temperley-Lieb category

joint work with David Sherman

|. Review of TQFTs
2. TQFT trace for the ATLC; completions
3.TQFT trace and free independence
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13.6\ Proposition. Let b = gcd(k, j), where appropriate.
(a) tr(R7) = cat(j)
(b) tr(T?) =0 if j is odd

(c) tr(Tg) = (;2) if k and j are both even and j # b

(d) tr(Tg) = W% (;’2) = cat(b) if k and j are both even and j =b

(e) tr(Tg) =0 if k is odd, 7 is even, and j # 2b

(f) tr(Tﬁ) = ({b—?]ﬂ) if k is odd, j is even, and j = 2b
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